

۰ - ۱ - ۰ - ۰

$$1) \lim_{n \rightarrow \infty} \frac{n^2 + an + b}{n^2 - cn + d} = \infty \sim a + bz? \quad (1)$$

$$(n-r)^2 = n^2 - 2rn + r^2 \rightarrow \begin{matrix} a = r \\ b = r \end{matrix} \Rightarrow \boxed{a+b=0}$$

$$2) \lim_{n \rightarrow \infty} \frac{n}{n^2 + an + b} = +\infty \sim \left[\frac{b}{a} \right] z? \quad (2)$$

$$n \rightarrow (\sqrt{n}) \rightarrow 0 \rightarrow (n - \sqrt{n})^2 = (n^2 - 2\sqrt{n}n + (\sqrt{n})^2)$$

$$\begin{matrix} a = -2\sqrt{n} \\ b = (\sqrt{n})^2 \end{matrix} \rightarrow \left[\frac{(\sqrt{n})^2}{-2\sqrt{n}} \right] = \left[\frac{\sqrt{n}}{-2} \right] = \boxed{-1}$$

$$3) \lim_{n \rightarrow \infty} \frac{[-n] + a}{n} = \infty \rightarrow [a] z? \quad (3)$$

$$n \rightarrow \left(\frac{1}{\sqrt{n}} \right)^+ \left| \frac{\sqrt{n}}{n} + a \right| + a$$

$$[-n] + a = -1 + a \rightarrow -1 + a$$

$$\frac{\sqrt{n}}{n} \times \frac{1}{\sqrt{n}} = \frac{1}{n}$$

$$\rightarrow \frac{-1+a}{\frac{1}{n} + a} = \frac{-1+a}{\frac{1}{n}} \sim \left[-\frac{1}{\epsilon} \right] z = \boxed{-1}$$

$$\frac{-1+a}{\frac{1}{n} + a} = \frac{-1}{\frac{1}{n}} \sim \sqrt{z} = \infty$$

$$na = -\frac{1}{n} - 1 \Rightarrow a = -\frac{1}{\epsilon}$$

$$4) \lim_{n \rightarrow \infty} \frac{15n - \left[-\frac{r}{n} \right]}{n} = ? \quad \left(\frac{r}{\frac{1}{n}} \right) = n \quad (4)$$

$$n \rightarrow \left(-\frac{1}{r} \right)^+ \left(15n + \left[\frac{r}{n} \right] \right)$$

$$\frac{-1+15}{-15+15} = \frac{0}{0} \rightarrow \frac{15n + 1}{15n + 15} = \frac{15(n+1)}{15(n+1)} = \boxed{\frac{15}{15}}$$

۲) $\lim_{n \rightarrow \infty} \frac{n^2 - 5}{n^2 - [n^2]}$ ؟

$$\frac{n^2 - 5}{n^2 - 1} = \frac{(n-1)(n+1)}{(n-1)(n^2 + 1n + 1)} = \frac{1}{1} = \boxed{\frac{1}{1}}$$

۳) $\lim_{n \rightarrow -1} \frac{n^2 + 10n + 16}{10 + 4\sqrt{n}}$ ؟

$$\frac{n^2 + 10n + 16}{10 + 4\sqrt{n}} \times \frac{n - 2\sqrt{n} + 1}{n - 2\sqrt{n} + 1} = \frac{(n+2)(n+1)(n-2\sqrt{n}+1)}{4(n+1)}$$

$$= \frac{-4 \times 0}{4} = \boxed{0}$$

۴) $\lim_{n \rightarrow 0} \frac{\sqrt{1+n} - \sqrt{1-n}}{\sqrt{1-4n}}$ ؟

(۴)

$$\frac{\sqrt{1+n} - \sqrt{1-n}}{\sqrt{1-4n}} \times \frac{\sqrt{1+n} + \sqrt{1-n}}{\sqrt{1+n} + \sqrt{1-n}} \times \frac{\sqrt{1+4n}}{\sqrt{1+4n}}$$

$$\frac{1+n - 1 + n}{\sqrt{1-4n}(\sqrt{1+n} + \sqrt{1-n})} = \frac{2n}{(1\sqrt{1}) \times (-4n)} = \boxed{0}$$